normalized X?

[ normalized x? probability |

chi2 chi2_prob
107 Woan  tasr oadfr R
Std Dev. 1.989 . . Std Dev. 0.3286
: - o 0.12f- ‘ G mo
1072 N : E‘QS? o
Std Dev. 53 0.1-". L- Std Dev. 0.3273
0.08f-
0.06f -
0.04f--:
0.02 = eedeeneent
o +B) ||l i |
g | ‘!' !”\ e \Hl HHHWH L
« : 'u "' .‘ ,|| il
|I ‘V ﬁ W M | I |
: I O N
0 N HJHH.Wun: il i1
S5 10> T4 161520 0 0.10.2 0.3 0.40.5 0.6 0.7 0.8 0.9 1
X? Prob(xz)

< x2/ndf >

A
5
c

o
<
v

,
1.8F--ceheanas Feeeee i
16F--- l --------
E I :
1.4~ | m==== pQM_v0001_R000000001__Global__mkFit_lkstable

== DQM_V0001_R0O00000001__Global__|

mkFit_CAND1kstable

1.

< X2/ ndf >

Ratio

102

1072

-1
AR(track, jeltS)



	Contents
	Page 1


